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¢ Write your name and your class in spaces provided
s The paper contains two sections. Section I and Section I ) )
* Answer all the questions in section I and any five questions Jrom section O

* All answers and working must be written on the question paper in the spaces

provided below each question.

¢ Show all the steps in your calculations, giving your .cz'nswers at each

spaces below each question.

¢ KNEC Mathematical tables may be used. Except where stated otherwise. .
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1 5 1 1 :
Evaluate —ofl=+1—+-— 3
AR VR | |3 marks]
Solve for x in 2x—5_3x4——1 =-§—' ' [3 marks]

Change the recurring decimal 0';3.» into a fraction and simplify completely[3 marks}

Three bells ring at intervals of 40 minutes, 45 minutes and 60 minutes. If they ring
simultaneously at 6:30 in the morning, at what time during the day will they ring next
together? [3 marks]
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)a 9. A school exchange programme to Europe is advertised at €245 per student. The school
is allowed 1 teacher for at no cost for every group of 15 students. For a group of 45
students and three teachers, how much would it cost the school if the exchange rate is
1US$ = Kshs.91.5 and 1.06US$ = €1 [3 marks]

10. Factorise by grouping completely 2x + 4y + px + 2py [3 marks]

' ?( 11. A triangular field has sides of length 550m, 300m and 400m. Using a pair of compasses
and ruler, construct a scale diagram for the piece of land. Use a scale of 1cm to

represent 50m. By taking a suitable measurement on your diagram calculate the area of
the field in square metres. [4 marks]

T
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12, Write the expression *1- -+-~l-— p-d as a single fraction in its simplest form.
g9 P9
|3 marks]
13. A cube of copper was found to have a mass of 0.630 kg. What are the dimensions of the
cube? Given that the density of copper is 8.94 g/cm3 [4 marks]

|
14.  Given the equation m = I (3k* +8ah +3a”) , Calculate the exact value of m,

when h =20 and a = -5, [3 marks]
15. Evaluate without using mathematical tables or a calculator [3marks]
J 384.16x0.0625
96.04

W
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A staff canteen at a military camp is open shown in the schedule below.

Monday to Friday Saturday Sunday
Opening time 0645h 0730h 0845h
Closing time 1730h 1730h 1200h

An employee who operates the canteen is paid a Kshs.25 per hour at the shop. How
much is her weekly pay.
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SECTION II (50 MARKS)
Answer any five questions from this section
In one week, Daniel sell 120kg of tomato and 80kg of grapes at his grocery shop.
Write the 80kg of tomato as a ratio of the total mass sold in the simplest ratio.
[2 marks]

One day he sold 28kg of oranges at Kshs. 140 per kg and 20kg of apples . His total
collections for that day were Kshs.7500. Calculate the price of a kg of apples.
[3 marks]

as Kshs. 140 which was 25% increase from the previous two
[2 marks]

The price of oranges W
weeks 8g0.

weeks. Determine the price two

sum of kshs.60,030 having bought the fruits at
h profit he made per

d) On another James received a
0 ¥ hours. Calculate how muc
' {3 marks|

Kshs.28230, after working for 1
hour.
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)( 18.a) Junet spends an amount of money on pens costing Kshs.225 each. He now spends
Kshs.1303 less on pencils than he spent on pens each costing Kshs.45 each. If the total
number of pens and pencils is 19, calculate the amount spent on pens. [4 marks]

b} A photograph is reduced in the ratic 3:5 for a newspaper advertisement and further
reduced in the ratio 4:5 for a text book, find the ratio of the newspaper size to the text
book size? [3 marks]

c} The mass of a cat and a rabbit is 10kg, a dog and the rabbit weigh 20kg while the dog
and the cat weigh 20kg. Find the mass of all three pets. [3 marks]

e e ——
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The diagram helow represents a lounge room in a house. The walls and the ceiling are
to be painty : ,

68m -7 oo
,:‘;- 1 [

" y e

Find,
The area of the walls of the lounge [3 marks]
The area of the ceiling [2 marks]

_Calculate the number of 4L cans of paint will be bought for painting of the walls and
the ceilings &£ # 1 litre of paint covers 16m?. Assuming the entries and the openings will
take up 10% of the walls ‘ [3 marks]

Floor is covered with tiles measuring 30cm by 30cm, how many tiles shall be bought.
[2 marks]
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Table below shows the amount of money charged for hiring a PS4 for a given time.

Time in minutes 10 {20 30 40 50

Charges in Kshs. 75 1100 {125 [150 | 175 |
Draw a graph of charges against time played [4 marks]
Use your graph to find the standing charge. [2 marks]

Using your graph determine how much money is used on hiring the PS4 for 28minutes,

33minutes and 42minutes.

[2 marks)

The time played if kshs. 131.00, kshs.190.00 is charged. § {2 marks]
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AR The diagram below repre sents a trough which is 5m long and its cross-section isa
semi-circle whose diarceter is 2.1m. '

PR
the rough in litres.

: {5 marks]

a) Calculate the capacity of

-~
B The trough which is initially erapty is filled by a water punp which pumps water at the
rate of 2 liwes per secondl. Calouiate he tme to the nearest minute it takes to fill the
Lanx. [2 marks}
,ﬁx
water leaks at the rat® of 50cm3 per second. How long
3 marks]

has a hole where

ough startig with an exapty trough.

) If the trough
will take to fill the tr
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& metal cuboid has a volume of 1080cm®and a mass of 8kg.
Cuiculate the mass of ene cubic centimetre of the metal in grams. {2 marks]

The base of the cuboid measures 12an by 10cm, calculate the height of the cuboid.

[3 marks]
The cuboid is melt and recast in to a sphere of radius r. calculate:
The radius of the sphere {3 marks]
The surface srea of the sphere {2 marks]
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23.a) The diagram shows g
Segments with

Tunning tracy at a high ge
4 semicircje a

hool, 1t Consists of two parajie] line
t each enq. The track is 10m wide,
100

‘\’

j

[2 marksj
ii) Emi rung on the oyter edge. How far does she Tun in one lap? [2 marks)
1) Find the difference between the distances Tun by Kayla and Emj 2 marksj

£
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24. A large scale farmer uses his farm as follows: 2/5on tea farming, 1/3 of the remainder on
horticulture, 1 /¢ of the remainder on grazing, 3/s of the remainder on homestead.

a) If what remains is 12ha and is left as furrow, determine the size of the portion used for
horticulture : [4 marks]

b) Represent the above information on a pie chart [e ma;ks)
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